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We have,

?f[x]a‘x:Liinoh[f[a]+f[a+h}|+f[a+2h}|+————+f{a+|{n—1]hﬂ,whereh= b

Here,3=0, &=3and flx) =[x + 4]

h=§::>n."'.-=3
"

Thus, we have,

=1 =IS{X+4:]G"X
)

=1 =lim h[f{u]+f{h]+f{zh]+----f{{n-l}h)]

!—Ilmh 4+[h+4)+ {2h+4]+————+[{n—1}|h+4”

:!—Ilmh

[
[
=17 =lim h[cm [ {nz_ ljﬂ

1= lim E[Walﬂ 2-1}]

R |7 n

= =lim 12+E{1—£]
2 n

=

=12+E=E
2 2
{x+4}|dx-§
2
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4ﬂ+h{1+2+3+————+[n—1}|}:|

|:'.'h—>|:|8ch=§:>ﬂ—>c:j|
n

-a

n




We have,
if{x}a‘)«f:Aiinuh[f[a]+f[a+h]+f{a+2h]+————+f{a+{n—1]h}]

whereh=b_a

Herea=0 b=272

—~h=2ga Flx)=x+3
n

Thus, we have,

I =12{X+3]dx

:>ID= lim h [f{u] +F{h)+Ff2h)+ - -~ Flfn- 1}|h]]
=1=limh[3+(h+3)+(2h+3)+(3h+3)----+[n-1)h+3]

= Li_r;nnh[Sn+h{1+2+3+————[n—1]}]
= lim h[3n+hm}
b0 2

wh=2aifhslono e
e

= lim E[Bn + EM}

R=rw 7 el o

. z2 1
= lim [Eu +Zn {1 - —H
R Il "

=6+2=8

2
s+ 3 =8
0
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Wa have,
TF{dex -Jj_r:luh[f{a}+f[a+h]+f{a+2hj+————+:"[a+|‘ln— l}h]]
b-a

whare h =

Herea=1, b=3and flx] = 3x-2

heZonhe2
n

Thus, we hava,

i n?{ax— 2ydx
1

:I=Iimh[f!lj+f[i+hj+r’{1+2h:|+———-f[1+{n-1}h}:|
-[Hnﬁh[1+{3|[1+hi 2l r{afL+2h)=2} 4= === iz[n[n-l]h}-z}]
vlL_l;nnh[n+3h[l+E+3+---—{n 1:]}]
=I|mh|:n+3hn{n-1}:|
Ly
-.-h:g ifh=0=n—-2w

n
IlmE[n ﬁn{n-l}]
e T 2

[0 1

-Lﬁn“2+n—n [1—;]
=IL|_|;|'|“2+I5-=E
..i{a;;—z}d;::s
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We have,
if[x]dx=Liinuh[f[a]+f[a+h]+f[a+2h]+————+f{a+[n—1]h}]

bh-a3
"

where =

Here a=-1, b=1 and fx)=x+3

.-.h=3:>nh=2
"

Thus, we have,

I= } [ +3)dx
-1

I=Liinnh[f{—1]+f[—1+h]+f{—1+2h]+————+f{—1+{n—1]h}]
=Li_r;nnh[2+[2+h]+[2+2h]+————+{[n—1]h+2}]
=Li_r}nuh[2n+h[:1+2+3+————]:|
=Iimhl2n+hm} [-.-h=3&ifh—>|:|:>n—>m}
h=0 2 el
= lim E[2n+5n{n_1}]
= 17 " 2
2
= lim 4+2i2[1—£J
= " "
—442-58

}[X +3)adv =6
-1
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We have,
Ef[x]dx = anh[f[a]+f{a+h}+f[a+2h:+————f[a+{n—l}h}]

wh&reh-'h_ 2
n

Hereg=0 b=5
and :l"[x}:[x +1]-

 h=>=nph=5
n

Thus, we have,
;:E[xﬂ]dx

1= lim R[F(0)+7(h)+7(2h)+- -~ - 7{{n-1)A}]
= limh[1e(he1)+f2he)+-- - +ffn - 1)h+1)]
& Li_l;l'ln."?[n +h{t+2+43+-- - [n-1})]

wh=Zandifh—=0 n—=w=

7 35
g[x + 1)l =
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We have,

b .

if[x]dx =L|_r;nnh[f[a]+f[a+h]+f[a+2h]+————f{a+[n—1]h]
whereh=b_a

Here, a=1, b=23

and f(x)={2x +3)

.-.h=5::>nh=2
b

Thus, we have,

I =[3[2X +3)

=y;h[ﬂﬂ+fﬁﬁJﬂ+fﬁ+2ﬂ+————fh+[n—ﬂh”
=limh[2+3+{2{1+h)+ 3} +{2{1+20)+ 3} - - - +2{1+ (- 1)+ 3}
=limh[5+[s+2h)+(5+ah)+----5+2[n-1)h]

= lim#[Sn+2h(i+2+34- -~ (n-1))]

wh=2 andifhs0=2now
0

- lim Elgn 4”‘”-11}

n—w 17 " 2

lim [10 g [”2_ 1}} 14

= |r'||2

?{Ex +3)dx = 14
1
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We hawve,
?f[x}a‘x =Limnh[f[a]+f[a+h]+f{a+2h]+————f[a+[r.-—1]h]

whereh=b_a

Here, =3, b=15
and fx)={2-x)

.-.h=3::>nh=2
"

Thus, we hawve,

= IS[E—X]G'X

I|mh[f[3]+f{3+h]+f[3+2h]+————f{3+{n—1]h}]

limh[(z-3)+{2- (3+m) +{z- (3420} +-- --{2- {3+ {n-1)H}]

[
I|m."'.-[ 1+[—1—h]+[—1—2."‘.']+————{—1—[n—l]h}]
I|m."'.-[ n- h{1+2+————[n—1]h]

'.'h=§8cifﬁ—)|:|:>ﬂ—>m

. El gn[n—lj}
slim —=-p - ——=
n—w 17 " 2

lirm —2—%n2[1—l] =_2_2=_4
= " h

52 o) 4
- wYdy = -
I{2-)
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We hawve,
![);"'[x]dx =Li£nnh[f[a]+f[a+h]+ f[a+2h]+————f{a+[n—l]h]

Whereh=b_a

Herea=0, h=2 and f{x}={x2+1}

.-.h=3::>nh=2
H

Thus, we hawve,

I= f{x2+1:]dx

lim #1[F{0) + 7 (R) + 7 (2h) +- - - - F{{n - 1)1} ]

lim # [ {h2+1)+[[2h] +1]+————[[n—1]h]2+1}]

I|rn h[ n+h {1+22+32+————+{n—1]2):|

wheZaifho0= no e
L

- lim Eln L4 nfn-1){en- 1}}

n® &

) 4 1 1
litn 2+—3n3{1——J(2——J
R=w 2h ."'.' n
= 2+i><2= E

3 3

n—=w

E[xz +1)|:"X = %
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We have,
Tf{x}a‘x =Limnh[f[:a]+f{a+h]+f|{a+2h]+————f{a+|{n—1]h:|

whereh=b_a

n

Here a=1, b=2 and f(x)=

.-.h=i:>nh=1
i

Thus, we have,

I=[x%dx
=L_r;1 RlIF)+F(1eh)+r(tean)+-——-Fli+{n-1)h)]
= lim & [1+{1+h} #frezn) e - -+fie(n-1)h }]
= lim f [1+(1+2h+h2) (1+2x2h+2x2h2)+————{1+2x[ﬂ—1}h+[1 n) hzﬂ
=Li_r}nﬂh[n+2h{1+2+3———[n—l] +h2[1 o ]]
1

vh=—&ifh=20=2hn—=w
i

ol 1[n+gntn—n+intn—1nzn-1n}

rw 1 n 2 e G
n? 1 T 1 1
=M1+ — | 1= Feml | T | | B
A ] ni Bh n "
2 7
=14+14+_—=_—
6 3
[xzd){:z
1 3
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We have,
éf;"'[x]dx =Limnh[f[a]+f[a+h]+f[a+2h]+————f{a+[n—1]h:|

whereh=b_a

Herea=2, b=3 and J"[X]=2X2+1

.-.h=1 = nh=1
"

Thus, we have,

I= [3(2)(2 +1)dx
2

lim k[ #{2)+F(2+n)+F(2+2h)+----Fl2+(n-1)h]]

2{2+{n—1]h]2+1

Li_';nnh[{g ><22+1)[2 [2+h]2+1] +[2 {2+2h]2+1]+————+

}

Li_r;nnh[gn+Elh{1+2+3———]+2h2(12+22+32+——)]

wh=laifhso=noa
i
nin-1 nin-1][2n-1
i Llan s 8[ ) 22( ){zr- 1)
r=sw N n ]
1 1
= lim 9+—n [1——J+—n [1——}[2——}
R n "
=9+4 +E=—1
3 3
3 41
j(Ex +1)a‘x-—
2 3
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We have,
Tf[x}dx = Limnh[f[a]+f[a+h]+f{a+2h]+————f{a+{n—1]h]

whereh=b_a

Heres=1 b=2 and f{x]=x2—1

.-.."‘.'=l = nh=1
"

Thus, we hawve,

I =f[x2— l)dx
1

[f[1]+f[1+h]+f{1+2h]+——— ~ 1+ (n- 1]h}]

= L|_r;nnh[lil+2h{1+2+3+———]+h2{1+22+32+——)]

h=laifhs 0o noe

"

. Hin-1 Hin-1][2nh-1
T Y - }+i2{ J(2n-1)
n=w 118 2 n &

. 1 1 1 1 1
= lim —znz[l——]+—n [1——][2——]
= 7 " Elr-ll " "
=1+E =i

& 3

g ?{xz—l)dx=§
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I|rn ."‘.'[ - 1}[[1 +."‘.']2— 1]+[[1+2h]2—1] +- ———+[{1+{n— 1]."'.-}2— 1H



We have,
if;l"[x]a‘x =li£nnh[f[a]+f[a+h]+ f{a+2h]+————f{a+[n—l]h]

whereh=b_a

Herea=0, b=2 and f[x}=x2—4

.-.h=3 = nh=2
i

Thus, we have,
_ e
I= é(x +4)G'X
= lim k[ F(0)+ 7 (h)+F(2h) +- - - - F [0+ {n-1)h)]
= Lir}nﬂh[4{h2+4}+[[2h]2+4]+————{[n— 1]h2+4}}
-.-h=§& ith=0=n—-w=

2 41r_IlJri:f‘.'[::f‘.'—1:][2#‘.'—1]}

= |lim
Fw 1 "l &
= lim B+—42n3[1—1]{2—1]
R 2h " n
4
B e
3 3

E[xz + 4)@'}:’ = %
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We have,
![);"'[x]r;"x =J}imﬂh[f{a]+f{a+h]+;"'[a+2h]+————f{a+[n—1]h]

where b = b-sa

Herea=1, Ah=4 and ;F[X]=X2—X

."‘.'=E = nh=23
"

Thus, we have,

K =?{X2—X}G"X
1

= lim b [f(+F{Leh)+F{Leah)+----F{1+{n-1)h)]

- lim :{12- 1)+[[1+h]2—{1+h]}+[[1+2h]2—[1+h]}+————}

- Li_t;nnh -D+[h+h2)+{2h+[2h]2]+————}

= Li_t;nnh -h+{1+2+3+———{n—1]]+h2[{1+22+32+———[n—1]2]:|

h=laifhos0lonoe

"
nin-1 nin-1]12r -1

i 23004 9 onle-1fen-1

n=sw 17| R 2 e &

Q 1 3 1 1

= lim —nz[l——J+—3n3{l——J{2——]

R=rw 1 " “n n i
_9,3 2

Z 2
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We have,
Tf[x}a‘x =Li_r;nnh[f[a]+f[a+h]+f[a+2h]+————f[a+[n—1]h]

-3
n

where b = b

Here,a=0, b=1 and fx)= 3w 4Ly

Thus, we hawve,

I= 11{3)(2 + EX)G'X
o

= Li_t;nnh[f[ljj+f[lj+h]+f{D+2h]+———-f{u+[n_1]h}]
- Lir}nnh[{lj+[3h2 +5h}+[3[2h]2+5[2h]}+____}

= Li_t;nnh[[th{l+ 2243+ ---[n- 1]2)]+5h{1 +2+3+---[n- 1]}}

-.-h=% ifbh=0=hn—w

= lim lli”{”‘lﬂzﬂ-lhi”fﬂ—ﬂ]

R ] ,r',-2 & n 2
1 1

3”3[1'_][2'_] 5 1

= lim —= ! ! + 2."'.'2[1 —]

w5 ] 2n ig]
Ix2 & K
= + — = —
f 2 2
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We have
jf{x}= delimh[ f(a)+ fa+ )+ fa+2h)+.+ fla+(n-1)k)]

h—+i

o G

R
Here
a=0b=2andf(x)=¢
Now

A=

nh=
Thus, we have

I= i&‘ﬂ?ﬁ
=B (0)+ £+ SR+ (n=1A]
=limA[l+e* +6% + 4]

2
n
2

ey 1]
=limh{——}
|

g g
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we hawve,
?f{x}dx = Limﬂh[f(a}+f{a+h}+f{a+2h)+————f{a+{n—1)h}

-3

where fr = b

Here,a=a, £=b and fx) =g

_b-a

h = hh=b-3

Thus, we have,
I=Aimjh[f{a]+f{a+h}+f{a+2h}|+————f{a+|{n—1}|hﬂ

= Liinoh[ee +ee+h+ea+2h+____e,+[n_1)b:|

- Li_r;nohe" [1+eh +eP e oo _9[”—1)"’}

- Ii_r)nuhe" [1+eh +[eb}2 +{e"’}3 e {e,.,)n-1:|
) -

= lim he® —
A0 R

. a™ -1 h
_ ]
_L|_r;n0 he n{ Y }x[eh_lJ

o lim ‘eb“"'
b=

—1)=eb—ea

¢ 5
s jefdy =7 - &f

a
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We have,

‘Eﬂ:x}i\( -ii_l;nuh[fﬁa:] +f(a+h:] +f|:a+ 2h)+ ._.+f[a+|:nu1:]h}], where h = &

b

Since we have to find | cossdy
L)

We have, Fx)=cosx

s
I= [cosxdy
&

[-.-a+ar+ar2+————ar”'1=a{

= I= Aiinuh[cosa+ cos(a+h)+ cos(a+ 2h)+...+ cosfa+(n - 1)4)]
h nh nh hYy . nh
cos|a+(n-1) < |sin— CO5|@ +=—= = | sin—
; 2 2 g 2 2 2
= I=limh = lim h
A= s”_.h h=0 smh
2 2
cos[a+¥—§]sin[b;—a]
= I=limh [ nk=b-a]
h=0 . R
Sin—
2
h
= I-Aim Ehx2c05[3+b-£]5|n[b-a]
=0 sinl 2 2 2
2
h
= I = lim 2 xlim2cos[a+b—i]ﬂn[EJ:gcns(a+bjsin[b_
b h A0 2 2 2 2 2
sin=
2
= Imsinb=-sina
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)

[ 2cos Asing = sin(A - &8) -sin(A4 +3)]

-1

r =

oo



We have,
Tf[x]a‘x =limﬂh[f[a]+f[a+h]+ f{a+2h]+————f{a+[n—l]h]

whereh=b_a

Here,2=0, b =2 and f{x)=sinx

2
a
—-0
h=2 =L b = 2
n 2n T
Thus, we have,
z
I=[sinxdx
0
= lim o[ F(0)+ 7 (0+ B)+ F{0+2h)+——— —F{0+{n- 1)}
=Iimh[5inD+5ir‘|h+5inEh+————Sin[n—ljh]
L]
[ fnh hk . hh
=1 ?—E KSln?
=L|r>nnh . h
Sin—
2
x h .
SIH[E_EJKSIHZ
= lim A
b=0 . h
Sin—
[ li 5iﬂ5‘_i| lirm h [ixi}
=08 RO ]
2
=2xl=1
z
Z
Ll sinxdy =1
]
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We have,

b .
if[x]dx =A|£nnh[f[a}+f[a+h]+ f[a+2h]+————f{a+[n—1]h:|
where h = b-s3
Here, & = Jb=g and f(x)=cosx
I
h = 2 " - I nh=2
n 2n T
Thus, we have,
z
I = [ cosxdy
a
= lim k[ F(0)+ 7 (04 A)+ F{0+2h8) 4+ ——— —F{0+{n - 1)h}]
= lirn h[m5EI+|::|:|5h+|:|:152h+————cuz[n—l]h]
b0
[n h] nh
cos e cos —
- Ll-r;nuh h
cos—
5-3)
cos 13 « COS —
- Ll-r;nclh h
cos—
cos & . 1 1
[ li = ] lirn h{—x—}
k=0 8 h—}IIII:D 2 o
= 2xl= 1
2
3
sJoosxaw =1
0
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We hawve,
![);"'[x]dx =Li_t;nnh[f[a]+J"[a+h]+f{a+2h]+————f{a+[n—1]h]

Whereh=b_a

Here, =1, bh=4 and f{x]=3x2+2x

I=limb[f{L)+f{teh)+f1+zn)e----Fla+{n-1)h]]

||mh[[3+2] [3[1+h] +2{1-+h)+ [3[1+2h] +2[1+2h]]+----}

L|_r;nuh[5+Eh[1+2+3+——]+3h2[1+ 22+32+———”

h=2aifhoslonoe
L

nin-1 nin-1]lgn-1

=Iim25n+a { ]+E { H }
n=w I 2 .r'.-2 G

= lim 15+%n2[1 l] 27 n3[1—i][2—3J
n=w H iyl 2."'.' Ly iy

=15+ 36 +27 =78

[3x +2x)-:"x 75

-
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We hawve,
?f[x}a‘x =Li£nnh[f[a]+f[a+h]+ f[a+2h]+————f{a+[n—l]h]

whereh=b_a

Here,a=0, bh=2 and f[x]=3x2—2

."‘.'=E = nhh=2
"

Thus, we have,

7= ]2{3)(2 - 2)ci
o

lim k[ {0} + 7 {0+ h)+F{0+20) +--- - F{0+{n-1)h}]

Li-';nnh[_g +[3n? - 2] +[3[2h]2— 2] P -}

Li_t;nﬂh [—2."'.' + Th° {1+ 22 43¢ 4o - - —}:I

wh=2 fhs0onow
n

lim El-zmg”i”-llizﬂ—l}}

R—w 7 " E‘

lirr —4+in3{1—lJ{2_iJ =-4+8 =4
= |r-|.3 0 L

2
jﬂ[3x2-2)dx=4
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We have,
?f[x]dx =Li£nnh[f[a]+f[a+h]+ J"[a+2h]+————f{a+[n—l]h]

-4
i

where h =

Here,s=0, =2 and f[x]=x2+2

Thus, we hawve,

= f{xz +2)a‘x

- [fm]+fm+h]+fph}+————fm+{n—ﬂh[
= L|_r;n [ {h2+2} [[Eh] +2}+————}
=L_r;nnh[ h+h2{1+22+32+————{n—1] }

wh=? BifhRslono®
I

_lim zlgmr 42n[n 1][2:/7—1]}

R—=w 7 n G
= lim 4+—3n3[1—1][2—l]
R=w " n n
R
3 3
j{x2+2)dx _ 20
o 3
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It is known that,

jj{.r}dx (b~ cz}hm [f{a]+,f{a+k}+ +f[cr+{n I}h] whereh_f_n_‘_?

Here,a=0, bh=4 and { {x}-1+t.
. 4- 9_4

f H

:>L*(_r+e:;)dr (4- [}]Ilm [f{{}}+,r (B)+ 1 (2m)+..+ f((n l}h}]
_{ﬂ+e J+(h+e )+ [9h+e”"]+...+{(n—i]hﬂ“""”“’}}
Fl+(h+e”‘}+{2h+e”'}+...+{(n i}.ﬁ-i-f,l[’”"’}]

= 41]':1“ _{}1+ 2h+3h+...+(n— [}h}+{;+elh PRI 1].',)1

2w 1

=4l§:_£n—nh{l+2+ (n— 1)}{ . i]:’
mnirr“l [I'{"_]}”h[emmi]}

2k
e —1

15+
2
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We have,
?f[x]a‘x =Li_r;nnh[f[a]+f{a+h]+f{a+2h]+————f{a+[n—1}h]

-4
"

where b =

Thus, we have,

I= ]2(;«*2 +X}G"X
0

= lim A [F(0)+ F(0+h)+F(0+2R)+- -~ - F{{n-1)H ]
=Iimh[D+[h2+h)+{[2h]2+2h]+————}
A=
=Iimh[[h2‘1+22+32+————[n—1]2 +|5t[ 1+2+3————[n—1]]}
A=
R R DS
n
ot Elizn[n—lj[zn—1]+3n[n—1]:|
e Bl R E| n 2
= lim igng [l—l][2—£]+%n2[1-i]
a—w 30 h h n n
= E+2 =E
3 3

E{Xz +X}G"X = g
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We have,
?f{x}dx =Limuh[f[:a]+f{a+h]+f[a+2h]+————f{a+[n—1]h]

-3
."'.'

where f = b

Here, =0, h=2 and f[X:]=X2+2X +1

2

h = = hh=2=2
i

Thus, we have,

I= [2[;(2 +2x + l)a'x

_nmh[f[u}+f{h}+f{zh}+----f{u+|{n-1]h}]
_I|mh[ {h2+2h+1)+{[2h] +2><2h+1}+————]
[ +h2{1+22+32+————{n—1]2+2h{1+2+3————[n—1]}
_2 ifi=0=n—mw
n
_ lim Eln+izn[n—1}{2n—1]+in[n—1]}
i=m Iy E| H 2
= lim 2+i3n3[1—i][2— 1]4'12”2[1 l]
= I n n " n
= 2+E+4 =§
3
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We have,
?f{x]dx = Limuh[f{a]+f{a +h)+f(a +2h]+————f{a +[n—1]h]

-3
."'.'

where b = b

Here, =0, h=3 and f[x]=2x2+3x+5

J".'=E = nhh =73
"

Thus, we have,

I= ?[2x2+3x+5)a‘x
0

= Li_r;nuh[f[lil]+f[h]+f[2h]+—— -- f{[n-ljh}]
=Iimh[5+{Ehz+3h+5)+{2{2h]2+3x2h+5]+————}
b=
= imh[5n+2h2{1+22+32+————[n—1]2+3h{1+2+3————[n—1]”
h=0
vh=2 aifhoslonoe
I
_ lim ElEH_'_%n[n—l][En—l]+En[n—1]}
R=w 7 h G h 2
= lim 15+i3n3[l—l][2—iJ+2—?2nz[l—i]
n—rw n " n 20 n
= 15+18+E =E
2 2

E[2x2+3x+5)dx = %
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It is known that,

r_,f' (x)dx=(b- cr}liml[_,f'{a}+ fla+vh)+..+f ((!‘ +{n- l}h)], where h= b=
a Ll 1

Here, a=a, b="b.and f (x)=x

o

.'.j:xdx:(b—a]liﬂ%[aﬂa+h)...{a+2}r}...a+[n-]]h]
={fl—ﬂ')!i_m%|:(ﬂ'-:ﬂ:a+...+ﬂ)+(h+2fi’+3f’-‘+...+[ﬁ‘—]}}r):|

fim

:{!1—a}!i_m%[na+h(l+2+3+,,,+{n—l})]
={b—a]li_‘m¢%_m+h{wlf}

|
=(h-a)lim—
{ a}nlm” na +

{n-])h]

2

_nl
~ (b—a)lim”
(b-a)fim’a
=(b—a)lim a+w}

A 2

{n—]lib—a)}

(1-:—?]{5 _a)

2

={b—a}lim a+

:{b—a}]im a+
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Let/ = [[(x+1)dx

It is known that,

b—a

ff(x}r:fx :{b—a}iim%[f{a}+f[a+h]...f[a+{n—i]h)], where h =
Here, a=0h=235, andf{x:l:[x+1}

0.3
- n _n

h

= h

:5!1_{‘.1{1+E”J+”{l+[S{H"_I}JH

_ Sliml {]+l +1...1}+[E+2-E+3~E+...(n-—l)i:ﬂ
H—H{-” ool ” n n n

o

= Slim{n E[imlﬂ
H-sm 2 H
=S[I+E}
2
{7
2
3
2
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It is known that,

j: f(x)de=(b-a) E]E;v[f(a}in flath)+ fla+2h)..f {a+(n ~1) h}} where h = f’if_‘.
Here,a=2,b=3, and f{x)=x"
3—2:

= = l
n "

[ =2)im [ 1) (2 e (2 2) o
(2 o(2 2 [0

ﬂim{z +{2 (22 } +{mz (-’ “(_JH
sl (0 (el 2

=lim - PR {i +2° 43 (n- 1}}+ {+?+...+{n—l)}:t

_]rTi§:4n+;?{n{n—il 2n-1]}+:{n(n2‘—l]}:l

“ ”[“',];][2":2]+4nn4

= lim—| 4n+
K g 6 2
= ]lm [4 +1 (l - 1][2 - 1]-;. - 2}
:4+E+2
6
_1®
3
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We have
[F(x)=dklimh[ f(a)+ f(a+R)+f(a+2h)+..+ fa+(n-1)h)]

Wi =2
n

Hete
a=1b=3andf{x)=x"+x
Now

h=

E T

nh=2
Thus, we have

1= +x)dk
=1:ﬂﬁ[f{1}+f{1+ﬁ}+ F(1+20)+ .+ f1+(n-1)R)]
=yﬂﬁ[{1ﬂ +1]|+{{1+,rz}2 +{1+}a}} +{{1+1ﬁ}’ +1+ 1}:}}+...]
=yﬂﬁ[{1ﬂ +(1+A) +(1+28)° +..._}+ {1+{1+}a}+[1+2ﬁ}+...}]
=hﬂﬁ[{n +2h(1+2+3+ )+ A (142 +3 +. ) )+ (n+ A1 4243 +...}}]
=1jﬂh|]:2n+3h1:1+2+3 +ot(n-1))+ i {1 +2+F + .+ (n-1) }ﬂ
2

'.'h=;& ifhsl=n—x

=ng[h+gn{n—1}+3 n(n-1)(2n-1)]
e gy R 2 3 [ ]
o8

3
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We have
i‘ f(x)=cklimh[ f(a)+ f(a+ )+ f(a+2h)+.+ fa+(n-1)k)]

L

n
Here
a=0h=2andf{x)=x"—x

j‘lh =
Thus, we have

I ]:‘{f e
= A[£(0)+ £ (R)+ F(2R)+...+ F({n—1)A]]
= imR[{(0F ~(O)}+{() - ()} + {2 -2} +..]
- {8 + 28 +-) (A1 20)+-]]
= tmh[ (142 +3 + _+(n 1) |- A{1+2 34+ (n-1)} ]

'.'h=%& ifhal=nox

n

=]img En{n—l}[ln—l} _Erz{n—ljﬂ

==l gt 6 n X ]
_2
3

Definite Integrals Ex 20.5 Q32

We have
i‘ F(x)=detimh] f(a)+ fa+ B)+fla+2h)+.+ fa+(n-1)k)]

A=+
b—a

Where A=——
R

Here
a=Lé=3andf(x)=2x"+3x
Now

e
n

nh=2
Thusz, wea have
1= i‘{zx* +3x e
=1;_:rrgﬁ|:f{l}+f{l+h} +f(1+2h)+ ..+ fi1 +{n—1}h}:|
= mA[(2+5)+ 201+ 4 + 5+ A+ 20 428) +5(1+ 20)} +..
=timA[(Tn+ 9A(1+2 43+ )+ 2 (1+ 2 +3 + ) |

s S R e SN S

n

o _m_l_En{n —1}+in{n—l}{ln -1)]

==y ¥ 2 n [ ]
112

5
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Given,
iﬁ:x)dx = limh[f(a)+ fla+h)+ fla+ 2+ ..+ Fla+ (n-1)h} ]
where h = 22

Here, f{x)=3x"+1, a=1, b =3 Therefore, h = % =

Sma

.-.I=T(3><2+1)d><

=1 =1Lr%h[F{1}+F{1+h]+ F1+2n)+ ..+ F{1+ (n- Dh)]

=1 =Lr%h[3(1}2+ 1+3(1+h) +1+3(1+ 20) + 1+ .+ 3(1+ (n- 1]h}2+ 1}
=1 =mh[an+n+6h{1+2+3+...+{n- 1]}+3hz[12+22+...+{r‘|—1]2ﬂ

== |im§{4ﬂ+%(1+ 2+ 34+ [r‘l— 1”+ 3xr_li2[12+22+...+{r‘|—1}2):|

==
[, 24 nf-1 24 (- HEE-Y
:I=LL“;[8+HTXT+H?X 6

= 1-pm|e 2t ) o527

=[=8+12+4x2 =28





